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Cs-137 Cs-134 Sr-90 Pu-239,240 U-238 Po-210 K-40
<45 n hE 0.253£0.015 <0.015 <0.036 <0.0013 0.0024£0.00050 0.27+0.024 80.2+0.7
<4 n hE 0.266£0.017 <0.017 <0.044 <0.0019 0.0042£0.00065 0.13x£0.017 95.0+0.54
24 i E 0.097+0.013 <0.027 <0.037 <0.0017 0.0040£0.00066 0.045£0.012 82.3+0.55
24 i E 0.059+0.018 <0.018 <0.04 <0.0013 <0.00065 <0.032 76.0+0.56
23 TAUAh 0.064£0.019 <0.024 <0.019 <0.0012 0.0011£0.00026 <0.035 78.7+£0.4
23 T AN 0.062£0.012 <0.019 <0.034 <0.0013 0.0027%£0.00041 <0.032 73.0+0.47
YT ov7 0.096£0.019 <0.02 <0.04 <0.002 0.0033£0.00043 0.16+0.019 104+0.47
Wi ov7 0.063£0.020 <0.016 <0.041 <0.0011 0.0041%£0.00061 0.12+0.016 86.91+0.42
= ov7 0.067£0.017 <0.019 <0.036 <0.0018 0.0048£0.00063 0.091£0.014 105+0.43
= ov7 0.089£0.015 <0.021 <0.033 <0.0015 0.0025%0.00039 0.087£0.015 94.0+£0.44
Pl i E <0.033 <0.016 <0.043 <0.0013 0.0010£0.00028 9.2+0.34 43.7+0.41
Pl i E <0.031 <0.027 <0.021 <0.0018 0.0013£0.00030 7.3%£0.27 32.7+0.45
Pl i E <0.030 <0.018 <0.016 <0.0017 0.0011£0.00028 8.6+0.32 30.2+0.57
F7IE hE <0.017 <0.033 <0.042 <0.0012 0.019£0.00015 2.1+£0.09 35.2+0.42
F7IE hE <0.019 <0.023 <0.040 <0.0016 0.030£0.00018 2.3+0.10 42.8+0.45
YT g2E <0.030 <0.024 <0.033 <0.0016 0.0034£0.00054 38x1.4 34.4+0.59
YT g2E <0.025 <0.018 <0.030 <0.0014 0.0014£0.00038 28£1.0 44.3+0.49
P hE <0.035 <0.023 0.118£0.014 <0.0019 0.0075%£0.00076 3.1%£0.12 40.3+0.4
P hE <0.033 <0.027 0.14+0.014 <0.0014 0.0050£0.00067 3.0%x0.12 43.8+0.52
NnvJg) i E <0.024 <0.029 <0.016 <0.0017 0.37+£0.0015 1.5+0.07 37%£0.58
NnvJg) i E <0.023 <0.028 <0.033 <0.0019 0.40+£0.0015 1.6+£0.07 42.7+0.48
15 i E <0.035 <0.025 <0.022 <0.0015 0.31£0.0012 0.50+0.034 34.3+0.48
15 i E <0.027 <0.033 <0.032 <0.0013 0.12+£0.0005 0.57+0.036 30%0.48
JEYH= i E <0.025 <0.032 <0.018 <0.0011 0.018£0.00013 5.0%£0.21 45.6+0.43
JEYH= i E <0.033 <0.025 <0.021 <0.0016 0.0089£0.00085 3.5%x0.16 34.1+£0.4
ThA hE <0.029 <0.030 0.056£0.013 <0.0015 0.14+£0.012 5.1%£0.27 105+0.56
ThA hE <0.02 <0.020 0.049£0.009 <0.0015 2.2%£0.009 4.1+£0.24 107+0.58
ThA hE <0.027 <0.022 0.044£0.011 <0.0013 0.046£0.0066 5.1%£0.27 91.2+0.46
(= i E <0.024 <0.015 <0.027 <0.001 2.8%+0.10 5.4%+0.24 971£0.6
(= i E <0.031 <0.035 <0.021 <0.0011 5.4%+0.22 5.6%x0.25 1043+£0.45
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